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C
alculate the perim

eter of this sem
i-circle.

Leave your answ
er in term

s of π

Find the value of x

The probability of a bus being late on any 
day is 0.2

Jam
es gets the bus on M

onday and on 
Tuesday.

W
hat is the probability that both buses are 

on tim
e?

C
E and FI are parallel lines.

Angle ED
H

 = 50°
Angle D

G
F = 100°

Show, giving reasons, that triangle D
G

H
 

is isosceles.

W
rite 50000 in standard form

W
rite 0.0043 in standard form

N
am

e: ______________                                    5-a-day                                      Foundation Plus
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